Oracle Name;

Practice Class:

Transaction Date:

What is the result of the following SQL statements:

First do the exercise on the paper and then check the result on the virtual machine.

NACHNAME_CUSTOMER
CUSTOMER_ID |FIRST_NAME GENDER |FIRST_ORDER |CREDIT_LIMIT
Fritz M 2017-03-12 300
2 Susi F 2018-06-20 200
3 Max M 2015-03-12 500
4 Maria F 2018-03-22 0
5 Barbara F 2017-12-20 700
FIRSTNAME user LASTNAME user

UPDATE NACHNAME_CUSTOMER
SET CREDIT_LIMIT = 300
WHERE CUSTOMER_ID = 2,

SELECT CREDIT_LIMIT
FROM NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 2;

SELECT CREDIT_LIMIT
FROM NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 2;

SELECT local_transaction_id
FROM V$TRANSACTION;

INSERT INTO NACHNAME_CUSTOMER
VALUES (6, 'Hans', 'M', SYSDATE,
200);

SELECT local transaction_id
FROM V$TRANSACTION;




SELECT CREDIT LIMIT
FROM=mo NAGHNAME !
WHERE 3 CUSTOMER _EDY= 6

Worksheet Query Builder

{ .| \DELETE .FROM .DEM® .GRIESMAYER_ACCOUNTS
WHERE ACCOUNT_ID = 2;

SELECT
FROM

CREDIT_LIMIT
NACHNAME_CUSTOMER

.. 4

ElScript Output * B> QueryR... *
A & W Bk SQL | All Rows Fetched: 0in 0.007 seconds

WHERE CUSTOMER_ID = 6; .
ACCO..J8 FIRST..[] BIRTH.|E AmoO..

DELETE FROM NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 1;
SELECT CREDIT_LIMIT
FROM  NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 1;

SELECT CREDIT_LIMIT

FROM  NACHNAME_CUSTOMER

WHERE CUSTOMER_ID = 1;:
ROLLBACK;

COMMIT;
SELECT CREDIT_LIMIT SELECT CREDIT_LIMIT
FROM  NACHNAME_CUSTOMER FROM  NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 1;: WHERE CUSTOMER_ID = 1;
SELECT CREDIT_LIMIT SELECT CREDIT_LIMIT
FROM  NACHNAME_CUSTOMER FROM  NACHNAME_CUSTOMER
WHERE CUSTOMER_ID = 2;: WHERE CUSTOMER_ID = 2;:
SELECT CREDIT_LIMIT _LIMIT
FROM  NACHNAME_CUSTOMER §§§E¥§
WHERE CUSTOMER_ID = 6; USTOMER “1D" £ 6;

Query Buil?er

| \DELETE FROM DEMOD.GRIESMAYER_ACCOUNTS

WHERE ACCOUNT_ID = 2,
I

.

Elscript Outputr * B> QueryR... *
A E ) B sqQL | All Rows Fetched: 0 in 0.007 seconds

B acco./d FIRsT..Jd BRTH./E AMO..




